
SAP ABAP table V_TFKIVV {Generated Table for View}

V_TFKIVV

MANDT [CLNT (3)]

APPLK [CHAR (1)]

IHVOR [CHAR (4)]

ITVOR [CHAR (4)]

HVORG [CHAR (4)]

TVORG [CHAR (4)]

T000

MANDT [CLNT (3)] V_TFKIVV-MANDT = T000-MANDT 0..N

0..N

TFKHVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]
 V_TFKIVV-HVORG = TFKHVO-HVORG 0..N

1
TFKIHVOR

APPLK [CHAR (1)]

IHVOR [CHAR (4)]

 V_TFKIVV-IHVOR = TFKIHVOR-IHVOR 
0..N1

TFKITVOR

APPLK [CHAR (1)]

IHVOR [CHAR (4)]

ITVOR [CHAR (4)]

 V_TFKIVV-ITVOR = TFKITVOR-ITVOR 

{0,1}

1

TFKTVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]

TVORG [CHAR (4)]

 V_TFKIVV-TVORG = TFKTVO-TVORG 

1

1


